
Addition de Cœurs Doux (F)
Quelle est la valeur de chaque cœur doux?

900 + h = 1508 s + 919 = 1108

631 + j = 930 n + 701 = 1572

614 + g = 1151 r + 429 = 1387

738 + a = 1535 m + 467 = 610

928 + b = 1195 o + 521 = 1267

256 + e = 529 p + 525 = 1197

643 + i = 1141 q + 858 = 1821

961 + d = 1537 t + 805 = 1446

470 + c = 1174 l + 902 = 1482

363 + f = 1075 k + 874 = 1670
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Addition de Cœurs Doux (F) Réponses
Quelle est la valeur de chaque cœur doux?

900 + 608 = 1508 189 + 919 = 1108

631 + 299 = 930 871 + 701 = 1572

614 + 537 = 1151 958 + 429 = 1387

738 + 797 = 1535 143 + 467 = 610

928 + 267 = 1195 746 + 521 = 1267

256 + 273 = 529 672 + 525 = 1197

643 + 498 = 1141 963 + 858 = 1821

961 + 576 = 1537 641 + 805 = 1446

470 + 704 = 1174 580 + 902 = 1482

363 + 712 = 1075 796 + 874 = 1670
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